CLERK'S CONTRACT and AGREEMENT COVER PAGE

Legistar File ID#:	Innoprise Contract #:		
Year:	Amount:		
Department:			
Contract Type:			
Contractors Name:			
Contract Description:			

MAYOR Keith Pekau

VILLAGE CLERK John C. Mehalek

14700 S. Ravinia Avenue Orland Park, IL 60462 708.403.6100 OrlandPark.org



TRUSTEES

Kathleen M. Fenton
James V. Dodge
Daniel T. Calandriello
William R. Healy
Cynthia Nelson Katsenes
Michael R. Milani

May 17, 2020

Mr. Antonio DiPaola Strada Construction Co. 1742 W. Armitage Ct. Addison, IL 60101

NOTICE TO PROCEED - Addendum B - Concrete Flatwork 2019

Dear Mr. DiPaola:

Enclosed is a copy of Addendum B dated May 6, 2020 for the change to extend the term of the Concrete Flatwork through 2020. Please attach this to the original Concrete Flatwork 2019 contract dated April 5, 2019.

If you have any questions, please call me at 708-403-6173.

Sincerely,

Denise Domalewski

Purchasing & Contract Administrator

cc: Bill Balling

Kevin Lehmann Rich Rittenbacher **MAYOR** Keith Pekau

VILLAGE CLERK John C. Mehalek

14700 S. Ravinia Avenue Orland Park, IL 60462 708.403.6100 OrlandPark.org



TRUSTEES

Kathleen M. Fenton
James V. Dodge
Daniel T. Calandriello
William R. Healy
Cynthia Nelson Katsenes
Michael R. Milani

May 6, 2020

Mr. Antonio DiPaola Strada Construction Co. 1742 W. Armitage Ct. Addison, IL 60101

NOTICE OF AWARD - Addendum B - Concrete Flatwork 2019

Dear Mr. DiPaola:

This notification is to inform you that on April 20, 2020, the Village of Orland Park Board of Trustees approved awarding the contract for Concrete Flatwork 2020 to Strada Construction Co. per your response to the Call for Bid 19-07 issued by the Village of Homewood on our behalf. The Village is issuing an addendum to the 2019 contract to extend the term at the 2020 unit prices. Please sign the attached addendum and return to my attention at Village of Orland Park, 14700 S. Ravinia Avenue, Orland Park, Illinois 60462 or emailed to ddomalewski@orlandpark.org. I will return a fully executed addendum for your files.

If you have any questions, please call me at 708-403-6173.

Sincerely,

Denise Domalewski

Purchasing & Contract Administrator

cc: Bill Balling

Kevin Lehmann Rich Rittenbacher

ADDENDUM B to Concrete Flatwork 2019

Dated April 5, 2019

Amended June 20, 2019

Between

The Village of Orland Park, Illinois ("VILLAGE") and Strada Construction Co. ("CONTRACTOR")

WHEREAS, on April 5, 2019, a certain Agreement regarding Concrete Flatwork 2019 between the Village and the Contractor was executed (hereinafter referred to as the "Agreement"); and,

WHEREAS, on June 20, 2019, a certain Agreement regarding Concrete Flatwork 2019 between the Village and the Contractor was amended (hereinafter referred to as the "Addendum A"); and

WHEREAS, the Village wishes to modify SCOPE OF WORK AND PAYMENT and TERM OF CONTRACT.

NOW, THEREFORE, for and in consideration of the foregoing and the mutual covenants herein contained, it is agreed by and between the parties hereto as follows:

- 1. In the event of any conflict or inconsistency between the provisions of this Addendum and the Agreement, the provisions of this Addendum shall control.
- SECTION 1: THE CONTRACT DOCUMENTS of said Agreement shall be amended to include "Addendum B dated May 6, 2020" and "The Call for Bids CFB #19-07 issued by Village of Homewood on behalf of Orland Park"
- SECTION 2: SCOPE OF THE WORK AND PAYMENT of said Agreement shall be amended to strike the words "Seventy Five Thousand and No/100 (\$75,000.00) Dollars" and replace with "Sixty One Thousand Five Hundred and No/100 (\$61,500.00) Dollars"
 - SECTION 2: SCOPE OF THE WORK AND PAYMENT of said Agreement shall be amended to replace the unit pricing schedule with the following unit price schedule for 2020:

ADDENDUM B to Concrete Flatwork 2019

Dated April 5, 2019

Amended June 20, 2019

Between

The Village of Orland Park, Illinois ("VILLAGE") and Strada Construction Co. ("CONTRACTOR")

ITEM NO	DESCRIPTION	UNIT	CONTRACT	Strada Construction Company	
				UNIT	TOTAL COST
1	ARROW BOARD	CAL DAY		\$500.00	\$0.00
2	P.C.C. PAVEMENT PATCH CL B (7")	SY		590.00	\$0.00
3	P.C.C. PAVEMENT PATCH CL.C (9')	SY		\$120.00	\$0.00
4	P.C.C. PAVEMENT PATCH CL B (10")	SY		\$140.00	\$0.00
5	P.C.C. DRIVEWAY PAVEMENT REMOVAL AND REPLACEMENT (6')	SY	260	\$72.00	\$18,720.00
6	P.C.C. DRIVEWAY PAVEMENT REMOVAL AND REPLACEMENT (8")	SY	100	\$72.00	\$7,200.00
7	P.C.C. SIDEWALK REMOVAL AND REPLACEMENT (5')	SF	34,800	58 00	\$278,400.00
8	P.C.C. SIDEWALK REMOVAL AND REPLACEMENT (8')	SF	1,630	58.00	\$13,040.00
9	COMBINATION CONCRETE CURB & GUTTER REMOVAL AND REPLACEMENT (Variable types)	FOOT	1,162	\$29 00	\$33,698.00
10	COMBINATION CONCRETE CURB & GUTTER REMOVAL AND REPLACEMENT (B6 24)	FOOT		\$38 00	\$0.00
11	DETECTABLE WARNING FIELDS - ADA Solutions, cast in place	SF	60	\$16.00	\$960.00
12	DETECTABLE WARNING FIELDS - "Armor Tile" cast in place replaceable	SF	260	\$16.00	\$4,160.00
13	DETECTABLE WARNING FIELDS - Duralast	SF		\$25.00	\$0.00
14	DETECTABLE WARNING FIELDS - Tiffile Cast Iron	SF		\$39.00	\$0.00
15	REINFORCEMENT BARS, EPOXY COATED - TWO CONTINUOUS NO. 5	FOOT	200	\$1.00	\$200.00
	AGGREGATE BASE COURSE, TYPE B, 4-INCH	SY	500	\$2.00	\$1,000.00
17	REMOVE AND REPLACE BRICK PAVERS	SF	180	\$13.00	\$2,340.00
18	VV, MH, INLET, CB TO BE ADJUSTED	EACH		\$300.00	\$0.00
19	HIGH-EARLY-STRENGTH PCC ADJUSTMENT (PP-2 MIX)	CY		\$30.00	\$0.00
20	P.C.C. COMBINATION (MONOLITHIC) SIDEWALK/CURB REMOVAL & REPLACEMENT 5"-6 25"	SY	80	\$72.00	\$5,760.00
21	HOT-MIX ASPHALT DRIVEWAY REMOVAL AND REPLACEMENT	SY	20	\$60.00	\$1,200.00
22	HOT-MIX ASPHALT STREET PAVEMENT REMOVAL AND REPLACEMENT	SY	80	\$30.00	\$2,400.00
23	EARTH EXCAVATION	CY	50	\$30.00	\$1,500.00

- SECTION 4: TERM OF THE CONTRACT of said Agreement shall be amended to strike "September 30, 2019" and replace with "October 31, 2020"
- 6. All of the other terms, covenants, representations and conditions of said Agreement not deleted or amended herein shall remain in full force and effect during the effective term of said Agreement.
- 7. This Addendum may be executed in two or more counterparts, each of which taken together, shall constitute one and the same instrument.

ADDENDUM B to Concrete Flatwork 2019

Dated April 5, 2019

Amended June 20, 2019

Between

The Village of Orland Park, Illinois ("VILLAGE") and Strada Construction Co. ("CONTRACTOR")

This Addendum, made and entered into effective the 6th day of May, 2020, shall be attached to and form a part of the Agreement dated the 5th day of April, 2019, as amended June 20, 2019, and shall take effect upon signature below by duly authorized agents of both parties.

AGREED AND ACCEPTED

FOR: WILLAGE OF ORLAND PARK	FOR: STRADA CONSTRUCTION CO.			
By: Sucception	By:			
Print Name: George Koczwara	Print Name: ANTONIO DIPHOU			
Its: Village Manager	Its: PRESIDENT			
Date: 5-1(-20	Date: 5-11-2020			



WORKERS COMPENSATION & EMPLOYER LIABILITY

\$500,000 - Each Accident \$500,000 - Policy Limit \$500,000 - Each Employee Waiver of Subrogation in favor of the Village of Orland Park

AUTOMOBILE LIABILITY

\$1,000,000 – Combined Single Limit
Additional Insured Endorsement in favor of the Village of Orland Park

GENERAL LIABILITY (Occurrence basis)

\$1,000,000 – Each Occurrence \$2,000,000 – General Aggregate Limit
\$1,000,000 – Personal & Advertising Injury
\$2,000,000 – Products/Completed Operations Aggregate
Additional Insured Endorsement & Waiver of Subrogation in favor of the Village of Orland Park

EXCESS LIABILITY (Umbrella-Follow Form Policy)

\$2,000,000 - Each Occurrence \$2,000,000 - Aggregate EXCESS MUST COVER: General Liability, Automobile Liability, Workers Compensation

Any insurance policies providing the coverages required of the Contractor/Vendor shall be <u>specifically endorsed</u> to identify "The Village of Orland Park, and their respective officers, trustees, directors, employees and agents as Additional Insureds on a primary/non-contributory basis with respect to all claims arising out of operations by or on behalf of the named insured." If the named insureds have other applicable insurance coverage, that coverage shall be deemed to be on an excess or contingent basis. The policies shall also contain a Waiver of Subrogation in favor of the Additional Insureds in regards to General Liability and Workers Compensation coverage's. The certificate of insurance shall also state this information on its face. Any insurance company providing coverage must hold an A VII rating according to Best's Key Rating Guide. Permitting the contractor, or any subcontractor, to proceed with any work prior to our receipt of the foregoing certificate and endorsement however, shall not be a waiver of the contractor's obligation to provide all of the above insurance.

Proposer agrees that prior to any commencement of work to furnish evidence of Insurance coverage providing for at minimum the coverages and limits described above directly to the Village of Orland Park, Denise Domalewski, Contract Administrator, 14700 S. Ravinia Avenue, Orland Park, IL 60462. Failure to provide this evidence in the time frame specified and prior to beginning of work may result in the termination of the Village's relationship with the contractor.

ACCEPTED & AGREED THIS // DAY	OF ///24 , 20 20	
At.		
Signature	Authorized to execute agreements for:	
ANTONIO DIPACA / PRESIDEN	IT STRADA CONSTRUCTION G	9
Printed Name & Title	Name of Company	